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#I\: input parameters A, B, C
#H : output result

1: some description &2/ 4H

2. for condition do

4: if condition then

6: else

8: while condition do

10: return result
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Mis® A MATLAB jBEiEF

Al 1 HERF
code.m

clear all
kk=2;
[mdd, ndd]=size (dd) ;
while ~isempty (V)
[tmpd, J]=min (W (i,V));
tmpj=Vv(3) ;
for k=2:ndd
[tmpl, jjl=min (dd (1, k)+W(dd(2,k),V));
tmp2=V(jJ);
tt(k-1,:)=[tmpl, tmp2,3j];
end
tmp=[tmpd, tmpj, j;tt];
[tmp3, tmp4]=min (tmp (:,1));
if tmp3==tmpd,
ss(l:2,kk)=[1i;tmp (tmp4d,2)];
else
tmp5=find (ss(:, tmp4) ~=0) ;
tmp6=1length (tmp)) ;
if dd (2, tmpd)==ss (tmpb6, tmp4)
ss(l:tmp6+1l, kk)=[ss (tmp5, tmp4) ; tmp (tmp4,2) ],
else, ss(l:3,kk)=[1;dd (2, tmp4) ;tmp (tmp4,2)];
end
end
dd=[dd, [tmp3; tmp (tmp4d,2)]11]1;
V(tmp (tmp4, 3))=[];
[mdd, ndd]=size (dd) ; kk=kk+1;
end;

S=ss; D=dd(1,:);
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% B Python IRIEFF
B.1 %2 HEF

mipl.py
# This example formulates and solves the following simple MIP
model:
maximize
X + y + 2 z
subject to
X + 2y + 3z <=4

x + y >= 1

+H H= H = H= FHE

X, Yy, z binary

# import gurobipy as gp
from gurobipy import * #GRB
try:

Create a new model

= Model ("mipl")

Create variables

X o= B =

= m.addVar (vtype=GRB.BINARY, name="x")

= m.addVar (vtype=GRB.BINARY, name="y")

= m.addVar (vtype=GRB.BINARY, name="z")
Set objective

.setObjective(x + y + 2 * z, GRB.MAXIMIZE)
Add constraint: x + 2 y + 3 z <= 4
.addConstr(x + 2 * y + 3 * z <= 4, "c0O")
Add constraint: x + y >= 1

.addConstr(x + y >= 1, "cl")

Optimize model

3 # 3 = 3 #H# 3 H N K

.optimize ()
for v in m.getVars() :

print ('$s %g' % (v.varName, v.x))

print ('Obj: %$g' $ m.objVval)

except GurobiError as e:

print ('"Error code ' + str(e.errno) + ': ' + str(e))

except AttributeError:

print ('Encountered an attribute error')
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